Quiz #1 (CSE 400.001)

Monday, September 19, 2011

Name: E-mail:
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1. (6 points) Solve the following equation:

(x4 y)de + dy = 0.
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2. (5 points) Solve the following equation:

(ycosz + 2ze?)dr + (sinz + 2%e¥ — 1)dy = 0
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3. (4 points) Solve the following initial value problem:

(2cos2z)dx — (2y + 3)dy = 0, y(0) = 1.
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4. (5 points) Solve the following initial value problem:

2y ray —y=0, y()=1,y1)="7.
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5. (5 points) Solve the following initial value problem:

Y+ 14y + 049y =0, y(0) =1, y'(0) = 2.
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6. (5 points) Solve the following equation:

'+ 4y + Ty = 0.
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